3E

YEOSHE
(g

Hydraulic Piston
AR Series

www.yeoshehydraulic.com
Efficient Performance

Innovative Technology

Reliable Quality and
Service

YEOSHE HYDRAULICS CO.,LTD.



AR Axial piston pump

AR series axial piston pump

>

1.Small and light design,space saving.
2.Special alloy material,power saving,low noise,long life.
3.Easy to assemble,exquisite appearance ang light weight.

4 Application for NC lathe,MC machine,bending machine,
punch hydraulic press,high efficiency machine.

dwnd uojsid jeixy YV

nominal pressure:165 bar
max. pressure:210 bar

£y single operation period: 210bar /6ms

Quick reference data chart

Displacement Pump Delivery (7 bar) 100 PSI | Pressure Adj Range. ~ Speed Weight

Size | Model 1500 RPM 1800 RPM B C Max. | Min. KG

LPM US. GPM| LPM uUs.GPM| bar(Mpa) bar(Mpa) RPM | RPM | (LB)
ARS8 8.0 0.48 12 3.17 14.4 3.8

cmyrev | In¥frev

AR10 | 100 K 061 | 15 | 39 18 | 476
12~70 | 12~210 4800 | 500 | 9(19.84)
AR12 | 120 | 073 | 18 | 476 | 216 573 | (12~7)  (1.2~21)

AR16 @ 158 096 | 23.7 6.26 2844  7.51

a W N -

AR22 | 222 | 1.35 33.3 8.8 39.96 10.56

1.Installation outlet port top, the pipe bave to less than 2 bar.

2.The use of max. pressure override 6 minunt, hydraulic oil clean that see General Installation Infomation.
3.YEOSHE offer tandem pumps, and other pumps connection, the connection type use Metric version and
SAE version dimensions.

www yeoshehydraulic.com



Type code for standard program Cﬁ’:f?

_ feflFlrlo]c]s|kfol B |
1 2 3 4 5 6 7 8 =) 10 1" 12

A

Series Size and Mounting Rotation Confrel  Pressure Port Shaft Threads Voltage Seals Design No.
displacement device adjusting position type code
> Series
A
B g nominal pressure  max. pressure  single operation period
1 AR
> Axial piston pump. | 4eg oy 210 bar 210bar /6ms
5
o Size and displacement
g.. Code 8 10 12 | 16 22
= , Size 1 2 3 4 5
'g _ cm/rev | 8.0 10.0| 12.0 158 222
3 Displacement =, 5, o 1048 | 0.61 | 0.73 | 0.96 | 1.35 | In=16.378 cm
5
Mounting
Flange mtg F
Foot mtg L

Rotation (when viewed from shaft end)
D clockwise R

4
(, counter clockwise L

*YEOSHE only have stock for standard direction of pipe connection and thread, please refer to page A-15.

Control type(for more details please refer to V series pump catalogue)

Standard pressure control 01
Remote pressure control G
Pressure
Load-sensing control A Lo+ EH HL[ ]
B Mid @ 14KG
[C] High : 21KG
2-stage pressure & Flow control C
2-stage pressure & Flow control + Remote CG
2-stage pressure & Flow control + Low tension unloading CR
5 Low tension unloading + Pressure control + Remote D
Low tension unloading + Pressure control + Remote DG
Electric 2-stage pressure control E
Electric 2-stage pressure control + Remote EG
Electric 2-stage pressure & Flow control F
Electric 2-stage pressure & Flow control + Remote FG
Remote pressure compensator with NG6 interface GM
Remote pressure compensator + Proportional pressure valve GJ

www yeoshehydraulic.com



Type code for standard program YELOSHE
EOEOOEEDDN N

Series Size and  Mounting Rotation Contrel Pressure  Port Shaft Threads \Voltage Seals Design No.
displacement device adjusting positien  type code

Control type(for more details please refer to V series pump catalogue)

Remote pressure compensator + Electrical unloading GR
Remote pressure compensator + 2-stage pressure control GB
: Remote pressure compensator + Electrical unloading + 2-stage pressure control GC
None pressure compensator (fixed displacement) (pressure protection required) LN
Electrical 2-stages flow compensator LS
Fixed displacement 2 stage flow compensator (pressure protection required) LE

Pressure adjusting

2~70 bar 1.2~7 Mpa B
12~210 bar 1.2~ 21 Mpa C
Port position
None :Rear port.(Inlet with flange, Outlet with thread type.)
Side port with thread type S
Side port.(Inlet with thread type, Outlet with flange interface.) F
Side port with flange H
* YEOSHE only have stock for standard direction of pipe connection and thread, please refer to page A-15.
Shaft type
Key K
8  Splind shaft 13T 16 / 32 DP G
Splind shaft 9T 16 /32 DP 1]
Threads type
PT(RC) 10 | *x
9 BSPP (G) 40
NPT 50

* YEOSHE only have stock for standard direction of pipe connection and thread, please refer to page A-15.

Voltage
None
AC100V (50/60HZ)
AC110V (60HZ)

10 AC200V (50/60HZ)
AC220V (60HZ)
DC 12V
DC 24V

TMOOm> <

Seals
NBR 3%

VITON V

1"

% standard type

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.

dwnd uojsid |eixy YV ﬂ



AR Series

Diagrams

A

(416 e

AR16 @ 1800 RPM

£
L)
> < 100 - é %
;U = - vol| efficiency T 5 £
o g 3
Z g sol— S £
E /over all efficiency
E. % 70 = L
L =
2. 80— a3
g. E 50 output flgw j |
3 et |
-g S 20 . 'q)’t‘?dﬂ — 10 a4
i WP
3 + 10 = | 42
.U 1
00 4 8 12 160 dp
(40.8)  (81.8) (122) (163)
—>» Pressure MPa(bar)
Input power
10
ER P=MPa(kgflcm?)
%’ — T P=14({143)
s 5 L= | P=12{122)
§ //_df P=10(102)
?‘- 4 // ~t P=8(81.6)
= |—T _tP=6(61.2)
t 2 —1 A P=4(40.8)
== | lP=2(20.4)
o = —T—T T 1P=07(7.1)

0 5 10 15 20 25 30
(35) (70) (105) (140) (175) (210)

—» Output flow (1/min)

Test condition:

Speed: 1800 r/min Hydraulic oil: ISO VG32 Oil temperature: 50C

Noise level

80
<70
[un]
= full flow
—_— u by
o L —°T 1%
8 g | ! v
il B j ® ®
@ \ ®
2 . .
2 2
L4 full cyt-off
f 50
40
0 4 8 12 16
(40.8) (B1.6) (122) (163)
> Pressure MPa(bar)
s Case drain flows
£
E N=1800rpm
= full cut-off
g | —— _
= 1.0 ——
£ ’\" N=1500rpm
%
@
8
+ 0.5
Head om
werlat 86290500 P
ingut PO 4809~ —
" SN

4 8 12 16
(40.8) (81.6) (122) (163)
—» Pressure MPa(bar)

The noise of the single pump is according to the standard of DIN45 635,the rule of land 26 at low echo mea-
sure laboratory,measuring that the distance of microphone is 1m and 1500rpm.

www yeoshehydraulic.com




AR Series

Diagrams YED—E'HE

Speed: 1800 r/min Hydraulic oil: ISO VG32 Oil temperature: 50°C

>

s
]
g AR22 @ 1800 RPM § ] & Noise level 5 -
=100 e = § Py
= e wvol. efficiency % ‘g
@ -
£ w0 o I 402 o E
B 11 2 5
= (@\
© _,lgjﬁ _ = full flow —— o §e)
g 60 . /1 30 {12 = Mﬂ# o o
2 sopg 110 & 85 r: : s e © -
z l o |1 2 * ¢ ©
40 20 18 A
S 22 \ & v T full cyt-off -
g S 18 z 1 2
© 20 i, 10 -4 A 50 —® =
+ 10 -2 3
= e
% 4 8 12 e = 40
(40.8)  (81.6)  (122)  (163) 0 4 3 15 16
—» Pressure MPa(bar) (40.8) (81.6) (122) (163)
—» Pressure MPa(bar)
Input power . Case drain flows
10 7Y £ N=1800{pm
il S P=MPa(kgficm?) 3z fwllcut—ot{ﬁff,ﬂ;;
g P=14(143) 2 1 [
Q& T ’ RElEtEn) £ = M N=15007pm
= P=10(102) @
a. P=8(81.6) 38
? 4 - —— P=6(61.2) f 0.5 d‘ﬁea -
| p=4(40.8) 200271 <o
2 E \Ne‘ o] %QQ
/’H,_.-—#_,—— — | P=2{20.4) . ‘_QO W
= o — =AY
=1 | P=1(10.2) . st HEE
0 1
o 10 20 30 40 50 3 @0.8) (816) (182)  (163)
—» Output flow (1/min) —» Pressure MPa(bar)
Test condition:

The noise of the single pump is according to the standard of DIN45 635,the rule of land 26 at low echo mea-
sure laboratory,measuring that the distance of microphone is 1m and 1500rpm.

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.



AR Axial piston pump exploded view é’}?’

dwnd uoisid [eIxy MY u

www yeoshehydraulic.com




AR Axial piston pump exploded view YED—E'HE

AR16,22 pump

>

Item Item

1 |Pump body 31 | Sleeve piston
2 |Swashplate 32 | O-ring
3 |Shaft 34 |Ball guide >
4 |Trunnion carrier 35 | Pin-cylinder block A
5 |[Body seal 36 | Slipper retainer E
6 |Servo piston sleeve 37A | Piston shose §
7 |Servo carrier 37 | Piston assembly ',g
8 |[Servo spring 38 | Cylinder block o
9 |Pump cover 39 | Valve plate _g
10 |Flow sleeve 40 | Snap ring c
11 |[Flow pin 41 | Washer cylinder block -g
12 |Seal pin 42 | Spring-cylinder block
17 | Shaft bearing 43 | Circular sticker
18 |[Snap ring 44 | Square sticker
19 |[Cover bearing 45 | Nameplate
20 |Shaft seal 46 | Motor pin
21 |Cover screw 47 | Screw
22 |Snap ring 48 | Washer
23 |Screw 61 | Flange
24 |Plug 62 |O-ring
25 |Key 63 | Plug
26 |Roller 64 |Plug
27 |Pin-trunnion carrier 65 | Adaptor
29 [Nut 66 | Spindle

67 | Screw

68 | O-ring

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.



A

dwnd uoysid [eiIxy MY

www yeoshehydraulic.com

Suction port
RC1V2(PT1/2)

Suctien port
RCV2(PT1/2)

2-M10x17Deep

Suction port
RC1/2(PT1/2)

AR Series

Dimension(For different control methods)

AR16 /22 01

Filling port

RCY/16"-18UNF

Drain port G3/8"(RC)

Luck nut ;\

maxigs /| 44.5

AR16/22 G

CDQ Flow adj.Screw | XSB 8
Discharge port 25 C’g. E: C’g.
RC3A4"(PT3/4") 8 3 8
2-M10x17 deep () 3 = i 7
0[ . I
w
I ] =
b Pressure gauge ©)
commection
rRC12ETHZ) ] |
4-M8x14 deep P
= B 10 Outlet RC1/2"

147

172

Filling port
RC9/16"-18UNF

MAX165.5

MAX100.5

Luck nut

Flow adj.Screw

4.76%F ™

()

INC.

76

Drain port MAX151.25 3255;?:\21:1:9
Remote control G3/8"(RC MAXB6.25 E@W‘aming'
G1/4 &PT1/4 e
Luck nut e\ MAX195 44. Don't adjust )
LICK nu / e
- -@ 7 pec. Flow adj.Screw 08 B [D“ N
Discharge port ‘ 25 o] 45| =2
RC3/4"(PT3/4") 3 & 8 i
2-M10x17 deep : g o o ! I
. 3 ] Mo I
P ! 2 g
b L Y 4_@ - o e B 1/ O | e o 2 S, L L
= <24 Pressure gauge -l
‘}m commection [
I RC1/2'(PT1/2") / L 2
S / F i
N——r” 4-MBx14 d —
22.9) A 17.5 Outlet RC1/2"
. 10 Inlet RC3/4"
32 5032 5 147 108 s
B232e. 130 &
120 172
AR16 / 22HL
Filling port Load sensing pressure
RCY/16"-18UNF adjustment
Remote control Drain port MAX151.25
G1/4 & PT1/4 G3/8"(RC MAX86.25 Hight pressure
adjustment
\ X ; /
e I MAX185, / 44 N
pec. Flow adj.Screw 28 ) ™ ED-
Discharge port 25 B :E :."EI, f] o
RC3/4"(PT3/4") “o’_ ) 3 P m
i @ ~| e | 4.76'8 nam by
- bl B w
¢ d Ny i
I ) & i
2 Y -_@ wr 11 [ Hp— | R
5 ‘,.,;’7 . Pressure gauge S I 7
N commection | I @
! RC12'(PT12") ~ _ 1t i ~
| |
N ; N
22.2 —abiont 175 l 1o _Outlet RC1/2" T N
5 p— niel
2.5/32.5 147 108 2,
2aes 130 )
120 172




AR Series

Dimension(For different control methods) YEOSHE

>

Low pressures

i 267.8 445 |
Q Drain port RC3/8" (PT3/8") M‘e‘hﬁ;‘;f = adjustmant
i Filling port RC9/16"-18UNF a T High pressure
Low flow adjustment / adjustment
° 6848 / >
High flow adjustment | — z O A
) 29 == 2? = i ING.
— £ P B B +0.03 ?
) & -y | =& @ 4.76 0 [{e] —_—
@ g W = sister o 2 o
5 = gy =
< o H- - i :‘: ; —1 ©
Outlet et | I i : © L
PT1/2-14/ Al )
N = |
' 4-8x15 deep/ 17.5 _L 10 pYi%14 ’ Inlet s
t TR 106 PT3/4"-14
124 sl Laaimas) (4-MT0x20 ) c
185 130 3
©
AR16 /22 CG
267,8 44,5 Drain port RC MAX.154.9 Low pressures
i 3/8" (PT3/8") MAX 89,0 adjustment
Filling port  — /— High pressure
DEC. RC9/16"-18UNF Romo‘t’e pressure port - adjustment
Low flow adjustment @ / PTY/4 Z  Warning:
) ﬁ Don't adjust
High flow adjustment o 58/ 6 | ) O
'I—Il @ | 25 Og °§ ‘DE INC.
% = e G- 4,76°003
. o & 2 & & w
o .3 & Blelel ~ &
N % oo =
0 H = = —
Outlet v dndly ©
PT1/214 /A ™
Outlet N
4-Max18 dasp, 17,5 18 Al A \ P an14
' 5 106 2,
147 kaMexie) % “T4-M10x20 )
185 130

AR16/22 CR

Solenoid control valves
Low pressures

b

OFF:Low tension unloadin Filli ort RC9/16"-18UNF MAX.154.9 i
ON:2-stage pressure - . . -——-W 5 adjustment
2 flow coitral Drain port RC3/8" (PT3/8") VAR 09,0 ] High pressure
O 267.8 | 44.5 adjustment
DEC. [e]
Low Flow adjustment ﬁ
f 1 High flow o . Jes | 8 = - INC.
° -adjustment g8 2 8
-] - o) Of N} W 0.03
o ) W TN @ ! a
©) o 2 * i l elel 8 o
| M~ b 4
Sr —fo o o X
i . : £ Y am —+
[y} M L

&
' Outlet | | 1 |
PT1/2"-14/
g 4-M8x16 deep / Outlet
17.5 10 PT1/2-14
124 147 (4-M8x16 )
185

Inlet
\% PT3/4"-14

S (4-M10x20 )

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.




AR Series

Dimension(For different control methods)

AR16 /22D &

A

. N 2765 44 .5 MAX154.9 Low pressures
SHisnok contiol valee Drain port RC3/8" (PT3/8") MAX 89,9 adjustment
Filling port RC9/16"-18UNF — High pressure
> O | / adjustment
68/ 6 /
m DEC. O @ —— (] O
Flow adjustment @ 28  oolcled | .
o Q" Ve INC.
Z EEE 4765
= sl ol I~
Q_) 2 ] . b o
% Fans b
5 S )8
w 74 VAN
Outlet 1 S
o pri2-14 /A &
=) Outlet
© RS doep 17,5 —I__W PT1/2"-14 ‘ ¥ I -
: 106 ?
| e 147 {4—M8X16) O (4-M10){20)
3 185 130
=
AR16 /22 DG
Low pressures
Solenoid control valves 2765 445 MAX:154,9 adjustment
Filling port Drain port RC3/8" (PT3/8")  MAXB99 High pressure
RC9/16"-18UNF /Romote pressure port : adjustment
O - PT1/4" /" Warning:
Q: O & 77 Don't adjust
DEC. o
Flow adjustment ) 88 6 ) - O
—= g g 8
@ | 25 acleg i:l INC.
[ 1.7 +0.03
g % \ =RE L8
g S g sl 8 S
= 1 =
B ry ol
sy | K |
] e T
. d
Outlet = | g
pT1i2 14/ i
Outlet
4-M8x16 deep Li75 10 PTA/2"-14 \g%\\ ::TJ%; i
4-MBx16 £
147 (4:MEx16) (4-M10x20 )
185
AR16/22E 2
Solenoid control valves 2765 a5 MAX154.9 LO"'.‘" pressures
= : . " MAX89.9 adstment
Drain port RC3/8" (PT3/8") B

High pressure
adjustment

O Filling port RC9/16"-18UNF

DEC., O @ —68/1.6 ; i O
Flow adjustment == ) ! 25| E = él ] ¢ i i
e i -0.03
ol o & 4760
| — — b=l = IR ~
] @ o
T e~ L —=  — 1
74 T
Outlet /S I ©
PT1/2-14 /AR5 — g
I,
4-M8x16 deep / 75 _l 10 S ' Inlet
. o PT3/4"-14

147 (4-M8x16 ) 106
185 130

{4-M10x20 )

www yeoshehydraulic.com



AR Series

Dimension(For different control methods)

YEOSHE

AR16 /22 EG

>

()

: 276.5 44,5 INC.
Solenoid control valves MAX154.9 Low pressures
Filling port RC9/16"18UNF Drain port RC3/8" (PT3/8" MAX89.9 sousiment
LIATG: ROTL R LA 1o rain pol { ) High pressure
Romote pressure port : adjustment
Q: O o / ET1/4" / Waming: %E
DEC. D 't d 1
Flow adjustment @ ARG : oy DOntadus
© | 25 ooles|os f
i o _ﬁ —
5 =EE & 2,
= E’;_ - slelsl N P
Z"F S 1 7}
@ o o o
Outlet © =y
PT1/2"14 /] = L& o
Outlet
TG doehy 175 10 PT1z \% \ PTa4"14 5
147 (SoNEcie) (4-M10x20 ) =
185 130
AR16/22 F
267.8 44,5 Low pressures
MAX154.9 adjustment
Solenoid control valves Drain port RC3/8" (PT3/8") MAX89.9 -
. Filling port RC9/16"-18UNF /__ H'Qh pressure
Low flow adjustment y %
High flow adjustment O @ 548 . e w
: & | 29 oolorled -
O = gl el N,
— @& '_‘- +0.03
DEC. + 1 a3 B . 4,760
g8 . —%,— ; i -
ST T [ = —
Outlet 7 Sl ©
PT1/214/ AR . P
Outlet I
4-M8x16 deep 175 | 10 P‘IL'I1182"-14 1 \ E‘-ﬁ%‘; s
' 4-M8x16 106 &, =
147 ey | & TaMiox0)
185 130
AR16/22 FG
267.8 44.5 MAX154.9 Low pressures
Fill rt RC9/16"-18UNF i " " adjustment
Solenoid control valves ng = /Dram port READ® T8 igh pressure
Romote pressure port ¢ adjustment
[ Low flow adjustment 1 / PT1/4 Warning:
. . Don't adjust
High flow adjustment M . 68/ 6
)
O | e nE
| DEC. )| = et
o =i o —| ol
& =] & b I I
3 - ik
AL i
S AD T - ==
Outlet /St |
PT1/2-14,/ A i ;
4-M8x16 deep/ 175 i | 10 ¥ \ E_}_et T
147 & T (4M10x20 )
185

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.



>
A
o
o
&
o}
=~
o
e
=
8

www yeoshehydraulic.com

AR Series

Dimension(For different control methods)

AR16 /22 GM

MAX NG6
195 34, Filling port 00 ¢+ _+
RC9/16"-18UNF "
Drain port 00+ + Diff pressure
Luck nut G3/8"(RC adjustment
O e | ((3%)Waming:
) DEC. Flow adj.Screw o Don't adjust )
[—11 Discharge port o ‘ 29, o3| es| oo
! RC3/4"(PT3/4") Sl & 8
2-M10x17 deep, a| —| o
(p |- —| | @ N
1 [=]
o ! b O g
,‘.J_L_@ " Pressure gauge ?'gE R "Hi— 3
! :ﬂ& commection T
Suction port ! RCUZY{PT1/2") / - =
Re1iz(PT12) [N | | P
il \—1'—’ 4-MBx14 deep e
: = . 10 Outlet RC1/. \ Inlet RC3/4"
32 532.5 o,
120 172
AR16 /22 GJ
MAX 195
243 Filling port 210
RC3/16"-18UNF
Drain port :
G3/8"(RC) Diff pressure
Luck nut O / adjustment
D . _ 68 6
pec, Flow adj.Screw o w5 (@Waming:
4 Discharge port o 29 co| o3 == 2 Don't adjust )
RC3/4"(PT3/4") o3 @ o
2-M10x17 deep 5 r--d: & ~| o 4.76'4 %
Hl —| | f
g i - [ iad
Vi j: N
\ Pressure gauge 3 % .
; 1 commection | ©
Suction port RCU2'(PT2") = 2
RCU2(PT12) [N /| P 4
1
4-MBx14 deey
22.2 z 175 10 Outlet RC1/2" o y T Te—
niel
325324 147 130 @‘%\
120 172
AR16 /22 GR
Drain port
G3/8"(RC)

MAX195 JII 4.

2-M10x17 deep

Suction port
RC1/2(PT1/2)

22.2

Filling port
RC9/16"-18UNF
Luck nut O
m;; Flow adj. e o 6
y DEC. Screw b\ ' g s
Discharge port .¢. e 03. == ;?
| RC3/4"(PT3/4") ; 1— &l 3 &
B\ Hog T
1| o
)
NP P | 1
L AN 1 Pressure gauge )
:ﬂ‘ﬁl M commection
rewzrerzy
N1 4p_/
I 4-MBx 14 dee) 175 10 Outlet RC1/2"
32.532.2 147
‘20 172

Diff pressure

adjustment

( @Warning:
Don't adjust )

3195

\  Inlet RC3/4"

(a
%




AR Series

Dimension(For different control methods) YEOSHE

Drain port
G3/8"(RC)
Mmaxigs [ aas.

>

Filling port
RC9/16"-18UNF

N
I_l Luck nut
o H O Flow adj.

DEC. _Screw

3 ’

Diff pressure
adjustment

( @Warning:

Don't adjust )

00 O

25

319.5 \.

2-M10x17 deep

1

4,764

BT

|

19.05 -B.03

21.24 816

82.55-80s

T

i 12
o I
[:] | 148.5\ :l

dwnd uoysid |eixy MY

B i
) I ool
S Pressure gauge ™ ~ i
1_ _J commection
Suction port g RC1/2'(PT1/2") M p——— T B
RC1/2(PT1/2) M P g l,_.v
22.2 el 175 qg Sute RV \__ Inlet RC3/4"
t 106
32.5(32.5 147 130 zd‘
120 172 '

AR16/22 GC

Drain port
G3/8"(RC)
MAX195 | 44.
Filling p9ﬂ
RC9/16"-18UNF A1 Diff pressure
adjustment
rl [—[ Luck nut r 1 [—l —
|;‘H:E @(7 Flow adj. \ Lo ] & 5 ; {®Warning:
DEC. Screw f Don't adjust )
é—_i Discharge port ‘3\ 25 CE °'_=T DE.’ : e
RC3/4"(PT3/4") 8| & 3 9 ®
2-M10x17 deej 5 7l & ® =
L & }ll_[—"_ N 4.76°4
A i “-[ S ”
2 Pressure gauge G T 3
- 1 commection ? ] @
Suction port RCUZ'(PTZY) — &
RCU2(PT12) [N o F-' L
4-MBx 14 dee ‘

522 i 175 10 Outlet RC1/2" \ Inlet RC3/4"
147 : 106 |
32.432_5

@
130 L)

120 172

AR16 /22 LN

Filling port Drain Port
RC/16"-18UNF RC3/8" (PT3/8")
O Luck nut -\ MAX 195 / 445
I /EB i
DEC. i
| 25 2 9 8
Discharge port o c.:'.r c-:’
RC3/4"(PT3/4") w3 2
2-M10x17deep ) ' Ll: g é % ,
2 ’ SN 5 J
7 9
2 U ) [ ] _ - 3
= Z ) Pressure gauge ©
&& commection L4
Suckon port RC1/2%PT1/2") / i o
RC1/2(PT1/2) _
il 4-MBx14 deep L
o "
s 10 Outlet RC1/. —
147 \
329325
120 172

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.



A

dwnd uoysid [eiIxy MY

AR Series

Dimension(For different control methods)

AR16/22LC

www yeoshehydraulic.com

Filli
RCOE 8UNF RCS!BPO PT3/8") MAX1655 | Lucknut
p— e
O Luck nut .\ MAX1955 / 445 MAX100.5 / Pressure adj. screw
Flow adj. Sc /68 | 6
DEC.
25 7
Discharge port - e
- ", " +H0.03 |
2-M10x17 deep ROS(PTYE] J 4760 or
o ~ oo
an - %:
°
Suction port ’ g 2
RC1/2(PT1/2 .
| 22)2 od = Outlet RC 1/2 =TRN
2 10 utlet y i
! 147 (4-M8Bx14) 106 Inlet RC 3/
62 532 130 O
120 172
Flangé side I |
P:PT1/2" P—O
" 4M8 x P1.25 eg .
+ Theard x 14 Deap ™"
l 17,5802
F5Q4[$mw dlstanmla.TrI\eaﬂ
AR Splined Shaft B
Luck nut
Filling port Drain bl
<09f16"-18UNF / RC3/8 (F’T3FB ) T MAX165.5 Flow adj. Screw
X MAX195 41 : = !
Luck nut T16/32DP-9T MAX100.5
DEC. Flow adj. Screw 58 5 O
Discharge port CE 7 ING.
RC3/4"(PT3/4") | g
[} =t
2-M10x17Dee; o) i L.]: @ o T
i 1 i.“- 'Nq
w
e I: 1 |
= Pressuregauge 4
commection CIT "
Suction port RC1/2'(PT1/2") | ©
RC1/2(PT1/2) 23
4-MBx14 deep — | 35
22.2 k | ~o  Outlet RC1/2 N e e
147 2,
5
172
AR Thru drive
Drain port
Filling port 3 "
RCO/16"-18UNF RC3/8" (PT3/8") MAX165.5
185,5 44.5 Flow adj. Screw
/68 6 /
+ c‘g cug CE INC.
@ —| o =
& % 8 rr: b
3 oo
i b = I L I | i
S HMN {
—2le
[{a]
Outlet — z P
RC 1/2" /
k-msms deep 175 10 (3““:;3R1%1)’2" Inlet RC 3/4"
147 = Mox
2-M10xP1.5x16deep (4-M10x20 )




Stock Status Table Y_EDEHE

Rotation Direction of pipe connection Tread Status | External Dimension
Rear Ports 18:PT [ AR16/22 RN10
None Flange for inlet 40:G ° AR16/22 RN40
Thread for outlet 50:NPT A
Side ports 10:PT ® AR16/22 RS10
= S Thread for inlet 40:G ° AR16/22 RS40
slsckiniss Thread for outlet 50:NPT A
Side ports 10:PT ® AR16/22 RF10
F Thread for inlet 40:G A
(It can conngtlztanw?t% 'mgﬁﬁ?ﬁﬁ ];)olrogll(],tlgémpact type) 50:NPT 43
Side ports 10:PT e AR16/22 RH10
H Flange for inlet 40:G ® AR16/22 RH40
Flange for outlet 50:NPT A
mear biorts 10PT | e | AR16/22LN10
None Flange for inlet
Thread for outlet SO:NPT | A
Side ports 16:PT Vst
coutter S Thread for inlet 40:G A
: Thread for outlet 50:NPT A
clockwise -
Side ports 10:PT A
F Thread for inlet 40:G A
(It can conn('e:(lz? nw?ti Im:rrri?oclg E)Iz)gltﬂ It?rgmpact type) 50:NPT A
Side ports 10:PT A
H Flange for inlet 40:G JAN
Flange for outlet 50:NPT L4
e There is stock, it can delivery fast.
/ANot standard, please check it with YOESHE for available and lead time.

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.

dwnd uoysid |eixy MY ﬂ



External Dimension
(Different Rotation / Direction of pipe connection / Thread )

A

Rotation: Clockwise, Rear ports , pipe connection type 10: PT Thread 202
p pip P
68
S B )
Py | |
§ | |
o |
w
o 172
: ()
= INC. DEC. Filling Port
3 Pressure Adj. Screw Flow Adj. Screw 9/16"-18UNF
S
Drain Port
RC3/8" (PT3/8")
Inlet :PT 3/4" e
(With Flange) = N . :
L]
Eressure Gauge J
. " onnection
RN40
Rotation: Clockwise, Rear ports , pipe connection type 40: G Thread 242
p pip yp
68
I~
Q 9
INC. DEC. Filling Port
Pressure Adj. Screw Flow Adj. Screw 9/16"-18UNF
Drain Port
RC3/8" (PT3/8")
Inlet:G 3/4" e
(With Flange) :_
[}
Pressure Gauge
% " Commection
Outlet:G 3/4 a1l i

www yeoshehydraulic.com



AR Series

External Dimension YEDSHE

(Different Rotation / Direction of pipe connection / Thread )

(Rotation: Clockwise, Side ports , pipe connection type 10: PT Thread)

>

>
A
O O Filling Port ;<(>
9/16"-18UNF =
INC. DEC. o
Pressure Adj. Screw Flow Adj. Screw Drain Port -
RC3/8" (PT3/8") »
68 6"
=
©
—] =
! =
S
o
~Jott— =
o
I A et
Outlet:PT 1/2"
147
InletPT 3/4* Pressure Gauge 172
Commection f
RC1/2" (PT1/2") RC3/4" (PT3/4")

RS40
(Rotation: Clockwise, Side ports , pipe connection type 40: G Thread)

RH40-1005
(Rotation: Clockwise, Side ports, pipe connection type: flange (excluding flange))

Filling Port
O 9/16"-18UNF

DEC.

AR Flow Adj. Screw Drain Port
Pressure Adj. Screw RC3/8" (PT3/8")
68
Pressure Gauge
Commection —
G3/4" i

ﬁ !

147
Inlet:G 3/4" Qulilet:C 412 7
Flange installaton intertace: SAE J518(Code 61) 3/4" Flangs msta;al-cln intartace: SAE J51 E[E;O:ﬂeﬁ'l} 12
Foteholes | Four hales
P ! !
G~ T T o 12—~ —O—O—r
L} C’. 0 f\!
! ~ 5 ! | Ni‘r)a |
4 w© . ' -— .
4-M10x P1.5 5 geM!t%hx ;’t1h‘25d F gs
of thread x 14mm
Depth of thread x 18m52}\\( p o I,
F506(distance between 2.2 +0.02] F504(distance between 17.5 0.2
screws, Thread) screws, Thread)

" Copyright@2022-YEOSHE-ALL RIGHT RESERVED.




A

dwnd uoysid [eiIxy MY

AR Series

External Dimension
(Different Rotation / Direction of pipe connection / Thread )

(Rotation: Clockwise, Side ports , C type pipe connection type: flange 10: PT Thread)
Only C, CR, D, E, F control options are available: Counterclockwise are not available

O Differential pressure Filling Port
Ty Adj. screw 9/16"-18UNF

Maximum pressure pec., Small flow Adj:
e Drain Port
Larg flow Adj: RC3/8" (PT3/8")
68

Olo
h-_l

[ ©

FI

Outlet : _/ ﬁ

62 62 PT 1/2"
Inlet:PT 3/4" 147
185.5
Flange instalation interface SAE 1518{Code 61) 341 Flange in si;ﬂ;lbn interface: SAE J 51e;{<:.ade 61) 1/2

Four holes 3

PT3/4" _¢__

Four holes Il ]

PT1/2"—~
. .
. *  4-MBxP1.25 .

Depth of thread x 16m

4-M10x P1.5 —_

Depth of thread x 20mm o S an ¥
- LT
F506(distance between 22.2 20.02 F504(distance between 5303

screws, Thread) screws, Thread)

www yeoshehydraulic.com




YEOSHE

External Dimension
(Different Rotation / Direction of pipe connection / Thread )

Riito]

(Rotation: Clockwise, Side ports , pipe connection type: flange 10: PT Thread)

Filling Port
O O 9/16™18UNF
INC. DFC' Drain Port
Pressure Adj. Screw Flow Adj. Screw RC3/8" (PT3/8")
68
Outlet:PT 1/2"
(With Flange)
147
Inlet:PT 3/4" ¥
(With Flange) Pressure Gauge 172
175 Connection '
RC3/4" (PT3/4")
RH40
(Rotation: Clockwise, Side ports, pipe connection type: flange 40: G Thread)
Filling Port
O O 9/16"-18UNF
INC. DEF:‘ Drain Port
Pressure Adj Screw Flow Ad]‘ Screw RC3/8" (PTS/B")
68

Outlet:

G 1/2"

(With Flange) i
Inlet:G 3/4" 90 8 N
(With Flange) Pressure Gauge 172

175 Commection '

RC3/4" (PT3/4")

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.

>

dwnd uoysid |eixy MY



External Dimension
(Different Rotation / Direction of pipe connection / Thread )

(Rotation: clockwise / Side Ports / Pipe connection type: inlet with flange10: PT thread /
Outlet: flange installation: SAE J518 (code 61)1/2")

A

|

g
A -

Filling Port
> O 9/16™18UNF
Q DEC.

2 INC. : Drain Port

o Pressure Adj. Screw Flow Adj. Screw RC3/8" (PT3/8")
o

ol 68

=

e

c

3
5

Pressure Gauge
Connection

RC3/4" (PT3/4") 147

Inlet:PT 3/4"

172

RCA2% (PTA/2T) Outlet:PT 1/2"

Flange installation interface:SAE J518(Code 61) 1/27
Four holes

PT1/2" —¢—¢7-
*4-M8 x P1.25 \(\} .‘JT‘. :
Depth of thread x 14mm h N
-

38.1 0.2

m

" g
17.5 #0.2
F504{distance between screws, Thread)

www yeoshehydraulic.com




External Dimension

YEOSHE

(Different Rotation / Direction of pipe connection / Thread )

>

(Counter Clockwise Rear Ports10:PT)
202

68

11 (Zl

R

172
Filling Port
9/16"-18UNF
Drain Port
RC3/8" (PT3/8")
| o e ]
= ——
] o
=
147

()

DEC.

()

INC.
Pressure Adj. Screw

dwnd uoysid |eixy MY

Flow Adj. Screw

Pressure Gauge
Connection

RC1/2" (PT1/2")

Inlet:PT 3/4"
(With Flange)

31.5[31.5
60

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.



YEOSHE HYDRAULICS CO., LTD.
YEOSHE BEST CHOICE

Innovative Technology
Efficient Performance
Reliable Quality and Service

HEREMBZERL G
YEOSHE HYDRAULICS TECHNOLOGY CO.,LTD.
413 & & PRI [ T —RE 683K

No.68, Wugong 1st Rd., Wufong Dist., Taichung City, Taiwan, 413
TEL : +886-4-23332339 FAX : +886-4-23333817 E-mail ! yeoshe@yeoshe.com.tw

HegrE e Dongguan TEL ¢ +86-769-85965158 FAX : 4+86-769-81635359 E-mail * yeoshe@yeoshe.com.tw
i8R Shanghai TEL : +86-21-69785786 FAX : +86-21-69785787  E-mail * yeoshe@yeoshe.com.tw

S 84m Distributor

www.yeoshehydraulic.com

IRiEFRE  EHENLFE
Copyright © 2022 by YEOSHE



	組合 1_compressed_page-0001
	組合 1_compressed_page-0002
	組合 1_compressed_page-0003
	組合 1_compressed_page-0004
	組合 1_compressed_page-0005
	組合 1_compressed_page-0006
	組合 1_compressed_page-0007
	組合 1_compressed_page-0008
	組合 1_compressed_page-0009
	組合 1_compressed_page-0010
	組合 1_compressed_page-0011
	組合 1_compressed_page-0012
	組合 1_compressed_page-0013
	組合 1_compressed_page-0014
	組合 1_compressed_page-0015
	組合 1_compressed_page-0016
	組合 1_compressed_page-0017
	組合 1_compressed_page-0018
	組合 1_compressed_page-0019
	組合 1_compressed_page-0020
	組合 1_compressed_page-0021
	組合 1_compressed_page-0022
	組合 1_compressed_page-0023

